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A Level History Tudors: Summer Task 2017 / I
Q1 | The War of the Roses were fought between Lancaster and A 1455-1482 The correct answer
York and during this time England was subjected to B 1438-1485 is...
intermittent civil war for 35 years. C 1455-1485
What are the dates of this war? D 1450-1465
Q2 | The Wars of the Roses came to an end when Henry Tudor A Edward IV The correct answer
defeated which Yorkist King at the Battle of Bosworth on B Richard IlI is...
the 22" August? C Henry VI
D Edward V
Q3 Henry Tudor did not have a strong claim to the throne of A because it came through his mother, The correct answer
England. Why not? Margaret Beaufort. is...
B because he usurped the throne.
C because he was a Lancastrian
D because he was a descendant of Henry VI.
Q4 After various deaths both natural and in battle, Henry A5 The correct answer
became the main Lancastrian claimant. His uncle Jasper B13 is...
Tudor, took Henry to safety in France. How many years did Cc15
he spend in Brittany? D14
Q5 | The battle began with Richard in the better position A Richard never got close to Henry. The correct answer
tactically on top of the hill, however, the Duke of Norfolk - - is...
one of his key commander was killed. Richard decided to B Henry’s standard bearer was killed.
make a rash charge: What happened in the rash charge? C he nearly reached Henry but was prevented
D He was hacked down by foot soldiers.
Q6 | Which magnate joined in Henry Tudor’s side to help him A Thomas Stanley The correct answer
defeat Richard using cavalry? B Duke of Norfolk is...
C Duke of Northumberland
D William Stanley
Q7 | Tudor society had a strict hierarchy with the King at the top, | A a member of the greater nobility —a The correct answer
then magnates, nobles, gentry and then commoners. baron. is...
Magnate is a term describing what? B a member of the lesser nobility- a Duke
C amember of the royal household.
D a member of parliament.
Q8 | Although Richard Il and his nephews were dead, there A Earl of Norfolk and Earl of Suffolk The correct answer
were other claimants to the throne who were they? B John de la Pole, Edmund de law ole. is...
C Margaret of Burgundy.
D Earl of Northumberland.
Q9 Henry VII was inexperienced due to a lack of knowledge of | A 24 The correct answer
England as a realm. How old was Henry VIl when he B 29 is...
ascended the throne? c28
D 26
Q10 | Henry VIl was coronated in October 1485 and he married in | A Elizabeth Woodville The correct answer

January 1485, who did he marry?

B Margaret of Burdundy.

C Margaret of Anjou

D Elizabeth of York.

is...

Research essay (Handwritten on one side of A4): Using the hand-out reading on England in 1485, create a hand-out
outlining ‘What was England like in 1485?’ Ensure you add detail on the following: Farming, Cloth-industry, English
Society, The Catholic Church (it’s influence and political sphere), Humanism, the invention of the Printing Press and

Widening Horizons.




